Office of the Executive Engineer (JSD)P.H.E Division Awantipora

E-Mail ID: phedivisionawantipora@gmail.com

Name: Bashir Ahmad Mir

S/O: Ab Gani Mir

R/O: Syedabad Pastuna

Reg. No.: Kmr/CE/FCD/DEE-117/1993

GST No. :01ALMPM5008M2Z2

PAN No.: ALMPM5008M

Subject:-Allotment for Retrofitting of of water supply scheme Bangla Wouyan by way of laying, fitting and service reservoir under JJM

Reference:- 1.Your tender in response to this office E-NIT No. 04/PHA of 2022-23 (e- tendering) issued under

endorsement No.PHA/Awp/204-215 dated:- 16-04-2022 Tender ID :2022_PHE_166887_19

2.Minuts of meeting DJJM Pulwama held on 14-06-2022

3.Technical sanction No. 48/JJM/2022-23 of 08/2022

4.Chief Engineer Kmr, PHE Deptt. Srinagar's No. CE/PHE/MC/DB/13745-83 Dated:- 26-07-2022

For on behalf of lieutenant Governor of Union Territory of Jammu & Kashmir, contract for above mentioned work is hereby fixed with you at the following quoted rates, terms conditions.

Advertised Cost:-Rs 4.78 lacs

Allotted Cost:- Rs 4.78 lacs

(Rupees four lacs and seventy eight thousand) only

S.No.	Particulars of items	Unit	Qty	Alloted Rate	Amount	
					in figures	in Words
1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: All kinds of soil (1 meter from cutting edge).	cum	412.75	436.00	179959	Rupees One Lakh SeventyNine Thousand Nine Hundred FiftyNine Only
2	Laying and fitting of G.I. pipes (all classes) complete excluding cost of pipes, fittings and Earth work.	► Mtr	30	107.70	3231	Rupees Three Thousand Two Hundred ThirtyOne Only
3	80 mm dia GI Pipes	Mtr	30	73.05	2191.5	Rupees Two Thousand One Hundred NinetyOne Paise Fifty Only
4	50 mm dia GI Pipes	Mtr	650	40.80	26520	Rupees TwentySix Thousand Five Hundred Twenty Only
5	40 mm dia GI Pipes 2	Mtr	550)	40.80	22440	Rupees TwentyTwo Thousand Four Hundred Fourty Only

Rad & grante & 9

/_{Subject:-}Allotment for Retrofitting of of water supply scheme Bangla Wouyan by way of laying , fitting and service reservoir under JJM

		-	-	-	THE REAL PROPERTY.	Rupees
5	25 mm dia GI Pipes	Mtr	700	30.65	21455	TwentyOr Thousand F Hundred
7	20 mm dia GI Pipes	Mtr	300	20.25	6075	FiftyFive O Rupees Si Thousand SeventyFi Only
8	15 mm dia GI Pipes 🛩	Mtr	1120	20.25	22680	Rupees TwentyTv Thousand S Hundred Eig Only
9	Providing & fixing of MS Flanges 8 to 10mm thick to GI pipe including cutting of threaded portion, welding, cost of nuts, bolts and washers with testing after completion of work including all carriages complete for:	Joint	5	1250.00	6250	Rupees Si Thousand T Hundred Fi Only
10	80mm	Joint	5	1000.00	5000	Rupees Fiv Thousand O
11	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete 25 to 40 mm nominal bore	V No.	25	666.25	16656.25	Rupees Sixte Thousand S Hundred FiftySix Pai TwentyFive Only
12	50 to 80 mm nominal bore	No.	5	1268.75	6343.75	Rupees Six Thousand Th Hundred FourtyThree Paise SeventyFive Only
13	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	cum	361.5	198.70	71830.05	Rupees SeventyOne Thousand Eig Hundred Thir Paise Five On
14	P/F of regulatory valves of reputed make with ISI mark including cost of fixing flanges , nuts, bolts, washers, tail pieces complete 100 mm dia	No.	2	11000.00	22000	Rupees TwentyTwo Thousand On
15	80 mm dia	No.	1	9000.00	9000	Rupees Nine Thousand Onl
16	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level: 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size)	cum	4.5	6759.07	30415.815	Rupees Thirty Thousand Fou Hundred Fiftee Paise EightyTwo Onl
17	Cutting road and making good the same including supply of extra quantities of material i.e. crushed aggregate, moorum screening, red bajri	cum	3.78	3365.60	12721.968	Rupees Twelve Thousand Seve Hundred TwentyOne Paise NinetySeven Only
	16.14.1 Bituminous portion Carriage by Mechanical Transport Lead 35 KM	MT	4.55	490.12	2230.046	Rupees Two Thousand Two Hundred Thirty Paise Five Only

subject:-Allotment for Retrofitting of of water supply scheme Bangla Wouyan by way of laying , fitting and service reservoir under JJM

	Total:-					Rs 4.78 lacs	
22	pipes @ 500 m	MT	7.62	207.49	1581.0738	Rupees One Thousand Five Hundred EightyOne Paise Seven Only	
21	Carriage by Manual Transport Sand/Bajri @ 200m	cum	6.32	714.34	4514.6288	Rupees Four Thousand Five Hundred Fourteen Paise SixtyThree Only	
20	Pipes @ 25 Km lead	MT	7.62	311.93	2376.9066	Rupees Two Thousand Three Hundred SeventySix Paise NinetyOne Only	
19	Sand @ 27 KM	cum	6.32	461.91	2919.2712	Rupees Two Thousand Nine Hundred Nineteen Paise TwentySeven Only	

Rates and quantity checked

Head Draftsman

Xen X

Terms Conditions:-

- The cost of work in no case exceed beyond Rs 4.78 lacs (Rupees four lacs and seventy eight thousand) only
- Bid declaration security @ 2% vide CDR No.3249245 Dated:_______2022 for an amount of Rs 9600/- (J&K Bank Tral) is being retained as security deposit shall be released only after successful completion of the work expiry of defective period.
- 3 Time of completion is essence of the contract.
- The work shall have to be started by you at site immediately and ensure its successful completion within a period of **01 month** from the date of issuance of allotment from this office strictly in accordance with the approved proposals falling which the work shall have to be got executed through any other means at your risk and cost, besides CDR deposited by you as security against this contract shall be forfeited. However date of start for laying and fitting of pipes will start within 07 days from the date of issuance of pipe material by the deptt.
- An agreement shall have to be drawn up by you with the department within a period of 07 days from the date of issuance of allotment failure to execute such a formal deed shall not however prevent the contract from being enforced upon you.
- 6 The allotted works shall be subject to check by the third party monitoring agency appointed by the department.
- Payment shall be released as per actual / measured work done not less than 20% of the allotted cost on a monthly basis
- Performance security equivalent to 3% of the value of the contract shall have to be deposited by you in shape of CDR/FDR/bank Guarantee within one week of issuance of allotment order and valid for a period of 3 months beyond the expiry of warranty period of the contract.
- The firm shall be bound for satisfactory performance of works for 18 months after the successful commissioning of the works. If during warranty period any malfunctioning / defects arise, you shall have to rectify same within a period of 10 days of receipt of intimation. In case of any failure on your part, the department may get the defects removed / repaired by any other means and cost thereof shall be recovered from you and shall be recommended for further punitive action as governed under the relevant clause of the contract including black listing.
- Pre & post Geo-tagged photographic evidence be taken during the execution of the work and shall have to be produced at the time of submission of the bill.
- The quantity allotted shall have to be executed on ground strictly as per the estimates that have been framed in the DPR for the item of "laying, fitting and service reservoir".
- All other terms and conditions shall be applicable as laid down in standard bid document and PWD from No. 25/33.
- Any rules / terms and conditions if not stipulated in the bidding documents, shall be strictly dealt in accordance with the relevant rules / guidelines stipulated in General Financial Rules (GFR-2017) and manual for procurement of works 2019 G.O.I.

Head Draftsman

Tech. Officer

Executive Engineer
ISD (PHE) Division Awantipora